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RIER D FRIRREEE

BHHX3—2 BEEYIERYTIEBESNSHEEICETLEE (1/2) _ _ _ | HESFE TR
SERMONE | EmES 129A2039 BT % \ JRE1T BH-2 [ Pric#h  EFRFER KKeHT srE— T H
. SMERM O T inIBES St i SERHEA
ﬁ%&g TREOBHOEILADKRES TREFDHBEBSILENOKRES TRFOBBOEILADKRES TREOHBERILNDOKRES
= = AV = HVE Tl = = T HVE = W HVE ==
= X 4 .(ar,né; -FlﬁﬁfJ(z)O)EEE’E jJOiONch)é X 4 'Fiﬁﬁgégg;kl .z.né; jj(llegcf)é X 4 .z,na)r J:mzb(z)@tt.a jj(llegcf)é X 4 J:m;b(z)@tl:.a 'Z]n? b(ﬁi/tnié
' 100kN/mMZ#BZ. % 1.00/ 000 ~ 291 146.22|3m%EHBZ 5| - ~ = - -| 100kN/MZ# %% 1.00| 10.87 ~ 33.63 146.22|3m%#B 2% o ~ = = =
Zh st 1.00/ 291 ~ 10.70 100.00| #hkist | 000 ~ 10.70[ 299 15.09 ZFhst 1.00| 500 ~ 1087 100.00] #h iyt | 500 ~ 33.63] 299 15.09
9 100kN/mMZ#BZ % 1.00/ 000 ~ 2.85 145.17|3m%EHBZ5| - ~ = - -| 100kN/MZ# %% 1.00{ 11.06 ~ 37.34 145.17|3m%#B2% o ~ = = =
Zh st 1.00| 285 ~ 10.64 100.00| #hList | 000 ~ 1064 295 14.90 ZFhst 1.00| 500 ~ 11.06 100.00] #h iyt | 500 ~ 37.34] 295 14.90
5 100kN/mMZ#BZ % 1.00/ 000 ~ 297 147.26|3m%#8 %% 000 ~ 097 343 17.34| 100kN/mM%# %% 1.00{ 11.00 ~ 41.70 147.26|3m%#x%(40.00 ~ 41.70| 3.43 17.34
Zh st 1.00| 297 ~ 10.76 100.00| #hLlst 1097 ~ 10.76] 3.00 15.16 Fhst 1.00] 500 ~ 11.00 100.00] #h iyt | 500 ~ 40.00[ 3.00 15.16
p 100kN/mMZ#BZ % 1.00/ 000 ~ 3.17 150.69|3m%# %% 000 ~ 007 3.03 15.33| 100kN/mMZ# %% 1.00| 10.70 ~ 36.67 150.69|3m%#x%(30.00 ~ 36.67| 3.03 15.33
Zh st 1.00/ 3.17 ~ 10.96 100.00| #hLlst 007 ~ 10.96| 3.00 15.16 Fhst 1.00| 500 ~ 10.70 100.00] #h Lyt | 500 ~ 30.00[ 3.00 15.16
5 100kN/M%Z#B % % -l -~ = -|3mZBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ 3 =~ = = =
Zh st 1.00/ 000 ~ 6.67 84.15| #hLlst |000 ~ 6.67| 1.63 8.22 Fhst 1.00| 500 ~ 845 84.15| #h Lyt | 500 ~ 845 163 8.22
6 100kN/mMZ#BZ % 1.00/ 000 ~ 1.31 119.82|3m%EHEZ 5| - ~ = - -| 100kN/MZ# %% 1.00{ 10.78 ~ 15.51 119.82|3m%#B 2% o ~ = = =
Zh st 1.00/ 1.31 ~ 9,09 100.00] #hList | 000 ~ 909 226 11.44 Fhst 1.00| 500 ~ 10.78 100.00] #h Lyt | 500 ~ 1551 226 11.44
; 100kN/mMZ#BZ % 1.00/ 000 ~ 1.28 119.35|3m%EHBZ 5| - ~ = - -| 100kN/mMZ# %% 1.00{ 10.83 ~ 15.51 119.35(3m%#B 2% o ~ = = =
Zh st 1.00/ 1.28 ~ 9.06 100.00] #hList | 000 ~ 906 225 11.39 Fhst 1.00| 500 ~ 1083 100.00] #h Lyt | 500 ~ 1551 225 11.39
g 100kN/mMZ#BZ % 1.00/ 000 ~ 3.81 162.06|3m%#8 %5000 ~ 154| 3.80 19.19| 100kN/mM%# %% 1.00{ 10.66 ~ 42.20 162.06|3m%#8x%|25.00 ~ 4220 3.80 19.19
Zh st 1.00/ 3.81 ~ 11.60 100.00| #h iyt | 154 ~ 11.60] 3.00 15.16 Fhst 1.00| 5.00 ~ 10.66 100.00] #h iyt | 500 ~ 2500 3.00 15.16
9 100kN/mMZ#BZ % 1.00/ 000 ~ 3.62 158.62|3m%#8%%| 000 ~ 1.35 3.66 18.49| 100kN/mM%# %% 1.00| 1053 ~ 41.43 158.62|3m%#8x%(25.00 ~ 41.43| 3.66 18.49
Zh st 1.00] 3.62 ~ 11.41 100.00| #h byt |1.35 ~ 11.41| 3.00 15.16 Fhst 1.00| 500 ~ 1053 100.00] #h iyt | 500 ~ 2500 3.00 15.16
10 100kN/mMZ#BZ % 1.00/ 000 ~ 2.16 133.54|3mEHEZB| - ~ = - -| 100kN/MZ# %% 1.00| 1059 ~ 18.79 133.54|3m%#B 2% o ~ = = =
Zh st 1.00/2.16 ~ 9.95 100.00| #hLlst {000 ~ 995 244 12.33 Fhst 1.00| 500 ~ 1059 100.00] #h iyt | 500 ~ 18.79| 244 12.33
” 100kN/mMZ#BZ % 1.00/ 000 ~ 242 137.81|3m%# %5000 ~ 0.19] 3.14 15.85| 100kN/mM%# %% 1.00| 12.61 ~ 2473 137.81|3m%#2%(20.00 ~ 2473 3.14 15.85
Zh st 1.00| 242 ~ 10.20 100.00| #hLlst 1019 ~ 10.20] 3.00 15.16 Fhst 1.00| 500 ~ 12.61 100.00] #h Lyt | 500 ~ 20.00[ 3.00 15.16
12 100kN/mMZ#BZ % 1.00/ 000 ~ 045 106.64|3m%EHEZ5| - ~ = - -| 100kN/MZ# %% 1.00{ 11.41 ~ 12.71 106.64|3m%#B 2% o ~ = = =
Zh st 1.00/ 045 ~ 823 100.00| #hList | 000 ~ 823| 241 12.18 Fhst 1.00| 500 ~ 11.41 100.00] #h Lyt | 500 ~ 1271 2.41 12.18
13 100kN/mZ#BZ % 1.00/0.00 ~ 0.63 109.38|3m%E#BZ 5| - ~ = = -| 100kN/M%E# %% 1.00| 11.22 ~ 13.06 109.38|3m%#Ez 5% -~ = = =
Zhst 1.00/ 063 ~ 842 100.00| #hList | 000 ~ 842 238 12.04 Zhst 1.00| 500 ~ 11.22 100.00f ZhLis | 500 ~ 13.06] 2.38 12.04
14 100kN/mZ#B %% 1.00/ 000 ~ 2.23 134.70(3m%#2%( 000 ~ 0.20 3.14 15.88| 100kN/mM%# %% 1.00| 12.67 ~ 23.35 134.70|3m%#8x%(20.00 ~ 23.35| 3.14 15.88
Zhst 1.00| 2.23 ~ 10.02 100.00| #h kst 1020 ~ 10.02| 3.00 15.16 Zhst 1.00| 500 ~ 12.67 100.00] #h Lyt | 500 ~ 20.00[ 3.00 15.16
15 100kN/m#E#BZ % 1.00{0.00 ~ 2.79 144.11|3mZEBZ 5 -~ = = —| 100kN/mM%#8 2% 1.00( 10.53 ~ 23.87 144.11|3m%H#BZ 5 ol ~ - - -
Zh st 1.00| 2.79 ~ 10.58 100.00f #huist [0.00 ~ 1058] 272 13.75 Fhst 1.00| 500 ~ 1053 100.00f #hkls | 500 ~ 2387 2.72 13.75]
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&5 X 4 .Z,na; T%ﬁ(z)@ﬂﬁ%ﬁ jn(gilch)é X 4 'Fmﬁzégg;k? .z.na; jj(gilch)é X 4 .z.na)r J:mzb(:)d)tt.a jj(gzlch)é X 4 J:m;b(z)@tt.a. 'Z]n? t(ﬁj/tnié
16 100kN/mM#%#BZ % 1.00({0.00 ~ 253 139.71|3m%EB 25 = ~ - = —| 100kN/mM%#B 2% 1.00 10.56 ~ 21.32 139.71|3m%EEZ 5 =l ~ - - -
Zzh st 1.00f 2.53 ~ 10.32 100.00| #hist | 0.00 ~ 10.32] 2.75 13.92 ZnLst 1.00f 500 ~ 10.56 100.00] #hkist | 5.00 ~ 21.32| 2.75 13.92
17 100kN/mM#%#BZ % 1.00({0.00 ~ 252 139.51|3m%EB 25 = ~ - = —| 100kN/mM%#B 2% 1.00 10.53 ~ 21.63 139.51|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{ 252 ~ 10.30 100.00] #h kit | 0.00 ~ 10.30f 2.70 13.66 ZnLst 1.00f 500 ~ 10.53 100.00] #hkist | 5.00 ~ 21.63| 2.70 13.66
18 100kN/mM#%#BZ % 1.00({0.00 ~ 0.76 111.34|3m%EB 25 = ~ - = —| 100kN/mM%#8 2% 1.00( 10.66 ~ 12.83 111.34|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{0.76 ~ 855 100.00| Z#hiist | 0.00 ~ 8.55| 2.27 11.47 ZznLst 1.00f 500 ~ 10.66 100.00] #hist | 5.00 ~ 12.83| 2.27 11.47
19 100kN/mM#%#BZ % 1.00({0.00 ~ 0.16 102.34|3m%B 25 = ~ - = —| 100kN/mM%#8 2% 1.00( 12.73 ~ 13.24 102.34|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{0.16 ~ 7.94 100.00] Z#hiist [ 000 ~ 7.94| 254 12.84 ZnLst 1.00f 500 ~ 1273 100.00] #hkist | 5.00 ~ 13.24| 2.54 12.84
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ Zzh st ~
100kN/mMZ#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#B % % ~ ImEEZD ~
zh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/mM%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#8Z% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ 3ImEFEZD ~ 100kN/m%#8Z 5% ~ ImEFEZD ~
ZThESH ~ ZThLst ~ ZhLS ~ ZThESE ~

il
..|.H
1]




